CSEII4A - Lechwre [7

a A

- geb intp dekelc OF  Implamensd
(2 o Lo TP Y

- (osk ot Naro Programs  that

Showtld e check!, but clont
wiEh the rudes wWeve seen 2 far

/t Palymrph.ism



g‘m ¢
néz 7 N r“-e\"‘lﬂl' P:{;”)nb T-44/
r’ - n=int r'he. €4 lnd
T "2
(x,7) el ﬁ(x/ l)|" e Tz_ -
T-Vor o
r‘t—')(u'r P L \)(“9& EQT&.
Lrestot Py 0 MeesT Dhrech,
[ € €z r( = let x= €, N €, = TL

aw £xprecssSion € 15 well -~ Fyped  in 1

—

IF we cant, Hee cxpression /s ll- fjeed
[or doesn't +ype Check ).

Lets do a 4'7p'v~7 de—vation:

> Hpe okt tlet €= N\ DX+ in £ 3

Int /
Ta wrd (at/
X, / T2 and lwl"
6(; ,"6é C(X, ‘*B 1 c? musSt s

/3

C Nom
(b, 2l [(x,br)};l At (B, bl [kw:% deZ .
Gordlex ¢1 - tne [l tnrtniTY . meDlne (st ]}=3 lat
Tlow T — TApp
E] - \x — )(-(-1 e Int C(f,‘\{* —<F ) = \wt
TLet

L1+ let F=\y > x+] ivn B 3 [ \ne
-

—_—



' c E; - Xt: Tt Foval o . a — aq
C )
'\”lam'cm

Isf" P rovwn inbercnce.
6wm a2 #ﬂp:' /
" Tineorewns o Eree ! v — P wdla.

th" inferzvice

\x —> x a— 4
let = 1'\&—9,/\é‘
let ¢ = 77~u¢. (N
¢ || b < - Bool

1
cootenn o B s



let F=\x—x 'n

let Y='-IF S'! M Shoald heve {—A‘Fe
F(\z—=> z+y) lnt= nt

buk VWow Can we nuke sure o infFer +Ha h‘,PC?

lp 5; wouwtd s eewn o I'MPQSC '~ N CO'V\.S"'faA'V\‘('
hes h};x It —> lnt

- et Ja
[\c (\z — ‘Z_““Jj wowld Scenr o impege o

comstrant Lhat £

has h-)ﬁg (lr\lf-»’n{—)‘géﬂ(""b‘*)
How +o deal wih Hus:

F's  ral h‘Fe 'S ol o . oo —> A .
—
(o Plytqpe)
we Con (nsfonhatre « Po/u)h,]fz W it Al frent
413?45, kj rzPIAcAMj the |loouwird Hﬂz Varn able.
wibh  Some +Y/z
M a uan Level, for His example:

* Whea uon bhave fo pieck A *—v)pc forr Spvme
Am‘j vorigble. , /qu:z{-,’

pick o Eresh h.’[z_ Variable .
o e {-x.tp< \XK~—>X comeS oul A— A,
bt e £L¢eap<~ase of  infer

° ' Hug o Brall a. o — g

ond  put the dpreralizad version of 1+

inle  +ue hlfg endronrman b

s when Youw use £ jn Otner Lords,
when you need +o’ g9or tue nfe of
F out OFf tue type  onvirsment
insfavdiate &,

/C E Vor case pF mCer

(Al of tuis is 9dng fo be usefil on 3
>f UwS5.)




